| JTLEUCLLL

Partdrawing for HM1400 - Pagina 1

£J ' 0

LN

o
S A

=Y

—

59




Partdrawing for HM1400 - Pagina 1

Nr.
001
003
004
005
006
007
008
009
010
011
012
013
014
015
015A
015B
016
017
018
019
020
021
022
023
024
025
027
028
029
030
031
032
033
034
035
036
037
037A
038
039
040
042
043
044
044A
044B

Part nr.

922471-0
211129-9
221713-2
211129-9
331212-7
213460-9
211228-7
213202-1
241648-1
514843-9
681635-2
211066-7
213406-5
524793-0
654084-6
654502-4
942301-9
922667-3
321560-2
321557-1
212307-4
253928-3
265343-9
321556-3
922326-9
254001-2
315525-4
211359-2
213354-8
157648-0
221714-0
211214-8
315908-8
323147-6
342531-6
961011-9
651131-4
652014-1
181906-2
911253-5
922356-0
316385-7
253751-6
159420-6
643659-6
414964-6

Name

Inbusbout M8X50 LF1000 P
Kogellager 6201Ddw A
Tandwiel 36 Hm1400
Kogellager 6201Ddw A
Keerring Hm1303/04/1400
O-Ring 35

Kogellager 6202LIb A
Stofafdichting 15

Waaier 104 Hm13/14/1500
Anker Hm1400

Isolatiering A

Kogellager 6200LIb

O-Ring 30

Veld Hm1400

Statorveer Hm1300 / Hm1400
Klembus 2Mm Tbv Stat.Veer
Veerring M12

Inbusbout M12X45
Krukashuls Hm1400
Verbindingsstang Hm1400
Naaldlager 1820

*Borgring M5

Zeskantbout M5X80

Krukas Hm1400

Inbusbout M6X18 HmM1304
Inlegspie 4

Lagerhuis Hm1400
Kogellager 6205 A

Keerring 25

Tandwielhuis Hm1400
Tandwiel 53 Hm1400
Kogellager 6302
Tandwielhuisdeksel Hm1400
Schakelaarpen 2412
Wisselhandel Hm1400
Stopring E-4

Schakelaar Sw-51 6511314 A
Schroef 4X8 Voor Schakelaar
Schakelaar Handvat-Set- Hm1400
Schroef 5X30 A

Inbusbout M6X35 A
Achterhuis Hm1400

Sluitring 24

Motorhuis Hm1400 Nieuw A
Koolborstelhouder Hm1300/1400

Ring

'H!!l,;!!!‘fl




Partdrawing for HM1400 - Pagina 1

Nr.
044C
045
046
047
048
049
050
052
053
055
056
057
058
059
060
061
062
063
064*
065
066
067
068
069
071
072
073
074
075
076
077
078*
079*
080
082
083
084
085
086
087
088*
089*
090*
091*
092
093

Part nr.

421406-3
953106-2
858T10-9
423137-0
687031-2
911133-5
685725-3
181906-2
922462-1
321956-7
421308-3
682504-0
695123-3
213855-6
157649-8
442009-0
341397-1
911213-7
181048-2
643650-4
266809-2
343891-9
213755-0
315524-6
922462-1
262034-3
253861-9
331299-9
322208-9
321563-6
262039-3
213517-6
213504-5
213754-2
266010-9
321961-4
321788-2
231032-8
216004-4
322059-0
412055-7
341993-5
412055-7
341993-5
321562-8
256128-4

Name

Stootring

Klinknagel 0,5 DA3000R P
Naamplaat Hm1400 A
Pakking Hm1400

Klemstrip Sr2600

Schroef 4X18

Spons Bo3700

Schakelaar Handvat-Set- Hm1400
Inbusbout M8X40 Sg1250 A
Handelhuls Hm1400

Huls Hm1400

Kabeltule 10-85 A

Netsnoer 2X1.50 4.0Mtr A
O-Ring 95

Krukashuis Hm1400
Motorhuispakking Hm1300
Motorhuisdeksel Hm1300
Schroef M5X12 A
Koolborstel Set Cb-155 A
Koolborstelhouderdop A
Met.Schroef Ph M5X14Mm Ck A
Koolborstel Afdekkap Hm1400 A
O-Ring 75

Neusstuk Hm1400
Inbusbout M8X40 Sg1250 A
Kunststof Ring 63

Sluitring 63

Vangring Hm1400
Ringhouder Hm1400
Slagstuk Hm1400

Kunststof Ring 42

X Ring 40 HM1300

O-Ring 40 HmM13/14/1500
0O-Ring 71 Hm1202C
Inbusbout M8X30
Beitelhouder Hm1400
Vastzetpen Hm1400
Drukveer 5

Stalen Kogel 7.9 A
Hamerstuk Hm1400
Zuigerring 50 Hm1400
Binnenring Hm1400
Zuigerring 50 Hm1400
Binnenring HmM1400

Zuiger Hm1400

Pen 10

'H!!l,;!!!‘fl




Partdrawing for HM1400 - Pagina 1

Nr. Part nr.

094 262003-4
400 273423-7
400A 273009-7
402  922451-6

Name

Rubber Koolborstelring Hm1400
Handgreep 40 Hm1400

Rubber Voor Handgreep Hm1400
Inbusbout M8X30

li:!fl;!!!:l




Partdrawing for HM1400 - Pagina 2




Partdrawing for HM1400 - Pagina 2

Nr.
001
003
004
005
006
007
008
009
010
011
012
013
014
015
015A
015B
016
017
018
019
020
021
022
023
024
025
027
028
029
030
031
032
033
034
035
036
037
037A
038
039
040
042
043
044
044A
044B

Part nr.

922471-0
211129-9
221713-2
211129-9
331212-7
213460-9
211228-7
213202-1
241648-1
514843-9
681635-2
211066-7
213406-5
524793-0
654084-6
654502-4
942301-9
922667-3
321560-2
321557-1
212307-4
253928-3
265343-9
321556-3
922326-9
254001-2
315525-4
211359-2
213354-8
157648-0
221714-0
211214-8
315908-8
323147-6
342531-6
961011-9
651131-4
652014-1
181906-2
911253-5
922356-0
316385-7
253751-6
159420-6
643659-6
414964-6

Name

Inbusbout M8X50 LF1000 P
Kogellager 6201Ddw A
Tandwiel 36 Hm1400
Kogellager 6201Ddw A
Keerring Hm1303/04/1400
O-Ring 35

Kogellager 6202LIb A
Stofafdichting 15

Waaier 104 Hm13/14/1500
Anker Hm1400

Isolatiering A

Kogellager 6200LIb

O-Ring 30

Veld Hm1400

Statorveer Hm1300 / Hm1400
Klembus 2Mm Tbv Stat.Veer
Veerring M12

Inbusbout M12X45
Krukashuls Hm1400
Verbindingsstang Hm1400
Naaldlager 1820

*Borgring M5

Zeskantbout M5X80

Krukas Hm1400

Inbusbout M6X18 HmM1304
Inlegspie 4

Lagerhuis Hm1400
Kogellager 6205 A

Keerring 25

Tandwielhuis Hm1400
Tandwiel 53 Hm1400
Kogellager 6302
Tandwielhuisdeksel Hm1400
Schakelaarpen 2412
Wisselhandel Hm1400
Stopring E-4

Schakelaar Sw-51 6511314 A
Schroef 4X8 Voor Schakelaar
Schakelaar Handvat-Set- Hm1400
Schroef 5X30 A

Inbusbout M6X35 A
Achterhuis Hm1400

Sluitring 24

Motorhuis Hm1400 Nieuw A
Koolborstelhouder Hm1300/1400

Ring

'H!!l,;!!!‘fl




Partdrawing for HM1400 - Pagina 2

Nr.
044C
045
046
047
048
049
050
052
053
055
056
057
058
059
060
061
062
063
064*
065
066
067
068
069
071
072
073
074
075
076
077
078*
079*
080
082
083
084
085
086
087
088*
089*
090*
091*
092
093

Part nr.

421406-3
953106-2
858T10-9
423137-0
687031-2
911133-5
685725-3
181906-2
922462-1
321956-7
421308-3
682504-0
695123-3
213855-6
157649-8
442009-0
341397-1
911213-7
181048-2
643650-4
266809-2
343891-9
213755-0
315524-6
922462-1
262034-3
253861-9
331299-9
322208-9
321563-6
262039-3
213517-6
213504-5
213754-2
266010-9
321961-4
321788-2
231032-8
216004-4
322059-0
412055-7
341993-5
412055-7
341993-5
321562-8
256128-4

Name

Stootring

Klinknagel 0,5 DA3000R P
Naamplaat Hm1400 A
Pakking Hm1400

Klemstrip Sr2600

Schroef 4X18

Spons Bo3700

Schakelaar Handvat-Set- Hm1400
Inbusbout M8X40 Sg1250 A
Handelhuls Hm1400

Huls Hm1400

Kabeltule 10-85 A

Netsnoer 2X1.50 4.0Mtr A
O-Ring 95

Krukashuis Hm1400
Motorhuispakking Hm1300
Motorhuisdeksel Hm1300
Schroef M5X12 A
Koolborstel Set Cb-155 A
Koolborstelhouderdop A
Met.Schroef Ph M5X14Mm Ck A
Koolborstel Afdekkap Hm1400 A
O-Ring 75

Neusstuk Hm1400
Inbusbout M8X40 Sg1250 A
Kunststof Ring 63

Sluitring 63

Vangring Hm1400
Ringhouder Hm1400
Slagstuk Hm1400

Kunststof Ring 42

X Ring 40 HM1300

O-Ring 40 HmM13/14/1500
0O-Ring 71 Hm1202C
Inbusbout M8X30
Beitelhouder Hm1400
Vastzetpen Hm1400
Drukveer 5

Stalen Kogel 7.9 A
Hamerstuk Hm1400
Zuigerring 50 Hm1400
Binnenring Hm1400
Zuigerring 50 Hm1400
Binnenring HmM1400

Zuiger Hm1400

Pen 10

'H!!l,;!!!‘fl




Partdrawing for HM1400 - Pagina 2

Nr. Part nr.

094 262003-4
400 273423-7
400A 273009-7
402  922451-6

Name

Rubber Koolborstelring Hm1400
Handgreep 40 Hm1400

Rubber Voor Handgreep Hm1400
Inbusbout M8X30

li:!fl;!!!:l




